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2.3: Product/Quotient/Trig Rules

1) Find the derivative of y = tanx X .
S inX SN X+Cos X = |




#2: Find the dlerivative of y = secx

9 = Cp3X
\_ Cosx(t?)—g)(—sfnx)
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v _osiX . _inx e !
}j - CpsS X CpSxX-COsX

Y = Jonxsecx



d . d e
E[tan x] = sec2x dx[co{ x] = —cscx

i[scc x] = sec x tan x i[csc x] = —cscxcotx
dx dx

#3 (Yes, we did this problem yesterday)
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#4. Find the equation of the
tangent line to the point.
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Higher Order Derivatives

#5 fX)=x*-2xX>+7x+9
£'(x)= X —ox T
f()= 1Ax 13X

()= 2Y4x -1k
FO= 24

£9%= O



#6: Find f'(x) f(x)
X) = secx

_'[‘ (X) +anxsec X

= Jon X Secx + secX



#7. Find f(2)

¢g2)=3 and g'2)=-2 flx) = gx)h(x)
h2)=—-1 and hK(2) =4

-{I(x)=g(x3h0<w
£'(=)= g@h'(x) + h(x) g‘(ﬂ
D=9 NP+ A3
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